ML Meguro Language Center

JLPT N4 Kanji Quiz - 11/34 Answer
Ml 1 b idh R TIEHVETA,

(1) 1 Hh 2 Hoa 3 WHeE WHok
(2) Tfi 1 H 2 H 3 HE WHok
(3) WA 1 Pxrox 2 Lxroxn 3 Nr& Nrox
M2 EE o h I O-ZLTEELE,

(1) FE4E 1 2roRi 2 Erhh 3 Xrohi as
(2) W 1 ZxH720 2 LEWN 3 Xx7ZW 9770
(3) &< 1 &8< 2 LBV 3 Ho< H<
B3 FLsE ZAVFET L, HDHVT 17&FLED,

(1) 1xLa 1 &5 2 5 3 ED W5
(2) ZAVET 1 EOET 2 EOET 3 EVET g OVE
(3) HHNT 1 EWT 2 BT 3 HRNT T
B4 BHDO SLTAIZ LwrIbwdILTWEDT, 977013 Bz FHATLE,

(1) 2ATh 1 EH) 2 JEHx 3 i
(2) Lwobwd 1 Hep 2 Hrh 3 HE R
(3) 97 1 K 2 3 K ik
Bl 5 Z22lZh BGNHAT KFELEEK, HITFT AFELED,

(1) 7plc 1 A 2 A 3 [A] {af

(2) BIBNT 1 EohT 2 ‘5T 3 EHNT ELhT
(3) HIFT 1 AT 2 P 3 BT BT



